Efficiency Practice Worksheet
1. Your job requires you to determine the efficiency of different brands of slingshots.  

	Brand
	Force Used
	Distance 
	Energy Used

	Firestorm
	50N
	20m
	1003J

	Laserhawk
	60N
	24m
	1500J

	Cyclone
	54N
	35m
	2084J

	Desert Scout
	63N
	57m
	4130J

	Pack-A-Long
	75N
	45m
	3412J

	The Bat 2007
	45N
	48m
	2248J

	Water Balloon Launch
	35N
	63m
	2219J


a. Cyclone:
i. Work:

ii. Efficiency:

b. Desert Scout:

i. Work:

ii. Efficiency:

c. Firestorm:

i. Work:

ii. Efficiency:

d. Laserhawk:

i. Work:

ii. Efficiency:

e. Pack – A – Long

i. Work:

ii. Efficiency:

f. The Bat 2007

i. Work:

ii. Efficiency:

g. Water Balloon Launcher

i. Work:

ii. Efficiency:

h. Rank the slingshots from most efficient to least efficient.

i. Which slingshot would take the least work to fire?

j. Which slingshot takes the most work to fire?

2. Describe the relationship between work input and work output in an ideal machine.

3. What is the formula for efficiency?

4. Is it possible to design a machine that has an efficiency that is greater than 100%?  Explain why or why not?

5. A summer job required you to determine the efficiency of pogo sticks.
	Brand
	Force Used
	Vertical Distance
	Energy Used

	Flybar 1200
	500N
	0.6m
	342J

	Super Pogo
	515N
	0.58m
	360J

	Mavarick
	545N
	0.79m
	440J

	Retro Pogo
	495N
	0.54m
	301J

	Master Pogo
	524N
	0.69m
	378J

	Vurtego
	610N
	0.89m
	600J

	Hannah Montana
	485N
	0.54m.
	270J

	Mini Moto
	354N
	0.23m
	150J

	Jackhammer
	450N
	0.87m
	460J


a. Flybar:
i. Work:

ii. Efficiency:

b. Hannah Montana

i. Work:

ii. Efficiency:

c. Jackhammer

i. Work:

ii. Efficiency:

d. Master Pogo

i. Work:

ii. Efficiency:

e. Mavarick

i. Work:

ii. Efficiency:

f. Mini Moto

i. Work:

ii. Efficiency:

g. Retro Pogo
i. Work:

ii. Efficiency:

h. Super Pogo

i. Work:

ii. Efficiency:

i. Vurtego

i. Work:

ii. Efficiency:

j. List the pogo sticks from most efficient to least efficient.

k. Which would be better exercise – a very efficient pogo stick or an inefficient pogo stick?  Explain your answer.

6. A 55N bike is rolled up a 9m ramp.  It takes 600J of energy to reach the top.  What is the efficiency?

7. A 300N skater skates around a 5.5m track using 1,700J of energy.  What is the efficiency?

8. A 456N walker walks 500m using 357,003J of energy.  What is the efficiency?
9. A 53N rock rolls 78m using 6,579J of energy.  What is the efficiency?
10. A 12N bird flies 2,000m using 30,259J of energy.  What is the efficiency?

